7.4C Dividing Radicals

A. Method

We use the “root of a fraction rule” in reverse to start thelybem.

B. Examples

Example1: Simplify —Vl\/g_;’y

Solution
15xy _ 15zy
V3y 3y
Ans |5z

Example2: Simplify \/_Vlzzzysz
LYz

Solution

\/8z%yd 835y3

\/18x2yz2 - 18x2y22

Thus we have

4133/2
922

Now convert back:

/42342

V922




Ans

Simplifying the radicals, we have

2zY\/T
3z

Example 3: Simplify

¥/135a11p2c3
V40a2b5¢

Solution

Ans

135011023 _ 3/135a11h2c3

V10a2b5¢ 40a2b5¢

Using the quotient rule on the inside, we get

3/27a%b—3¢2
8

Getting rid of the negative exponent, we get

3/27a%c2
8b3

Now convert back:

Y7492
/863

Now simplify each radical to get

343 ¥/c2
2b




